RN DIDLRL0) Bicb : A =
ErYHREaLE 8 4

04—k 23z

| 1000m% I1F0OX— kLW, Tkm (FOX—FJL) rESE 9,
ENEBOY AR YEET Y 2121, kmOEAVEF VT T,

kmOZEXH2BELZILL5. OTVFIEIRFYEL LS, )

2 ROEXHkmEE-TELIF L LD,

@ 6500m
km m
%5 ( )
@ 4000m
km m
%5 ( )
® 1050m
km m
%5 ( )

@ HeR % @“@?%’@3%@%@@



ENORDRDESD izt : A =)
EBrYP8EILE B8 .

*oit—FpriL

| 1000m% I1F0OX— kLW, Tkm (FOX—FJL) rESE 9,
ENBOY A YEET Y =121, kmOEAWEBNT T,

kmOZEXH2BELZILL5. OTVFIEIRFYEL LS, )

2 ROEXHkmEE-TELIF L LD,

@ 6500m

615:0:0 £z ( 6km500m )
@ 4000m

410:0:i0 %3 ( 4 km )
® 1050m

110:510 22 C lkm50m )

@ R EX % E@“@?ﬂé’%g@k@





